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QUESTION 1

Which statement about the db2move command is TRUE?

A. The LOAD actions can be run from a client machine.

B. Object ownership cannot be changed after a successful schema copy operation.

C. Tables containing GENERATED ALWAYS identity columns can be imported or loaded.
D. Loading data into tables containing XML columns is only supported for the LOAD actions.

Correct Answer: D

QUESTION 2

You receive a large data file that contains large object data values that need to be copied into a table in the shortest
amount of time possible. Which utility should be used?

A. LOAD

B. INGEST

C. IMPORT

D. TRANSPORT

Correct Answer: C

QUESTION 3

Which operation best describes the purpose of the SET INTEGRITY PRUNE operation?
A. To prunethe contents of a staging table.

B. To prune the contents of a synopsis table.

C. To prune the contents of a materialized query table (MQT).

D. To prune the contents of a declared global temporary table.

Correct Answer: A

QUESTION 4
Which statement regarding setting up a local keystore for DB2 native encryption is TRUE?

A. A local keystore is not needed if a Hardware Security Module (HSM) is used to managemaster keys.
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B. If a local keystore is used to store data encryption keys, a stash file must be used to store master keys temporarily.
C. A master key must be generated and placed in an existing local keystore before a new encrypted
database will be created.

D. After a local keystore is created, you will be prompted for a password whenever the database manager accesses the
keystore.

Correct Answer: C

QUESTION 5

Given the following: What will be the result of the following SQL statement?

CREATE TABLE t1 (col1 INTEGER MOT NULLY);

CREATE VIEW v1 A5 SELECT col1 FROM 1 WHERE col1 = 10;

CREATE VIEW v2 A5 SELECT coli FROM v1 WHERE col1 = 40
WITH CHECK OPTION;

CREATE VIEW v3 AS SELECT colt FROM v2 WHERE col1 = 50;

INSERT INTO v3 (coll) values (30);

A. The insert will succeed as it passes validation.

B. The insert will succeed as there is no WITH CHECK OPTION on view V3.

C. The insert will result in an error as it violates the WITH CHECK OPTION on view V2.
D. The insert will succeed as the default WITH CHECK OPTION is LOCAL on view V2.

Correct Answer: C

QUESTION 6

For any given column-organized user table, the associated synopsis table may contain information for which of the
following data types? (Choose two.)

A. XML

B. BLOB
C.CLOB

D. VARCHAR
E. DATETIME

Correct Answer: DE
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QUESTION 7

When querying the MON_GET_TABLESPACE table function, the values for many of the performance metrics like
POOL_DATA_P_READS and POOL_DATA_L_READS are showing 0, even though there is activity occurring in the
database. Which command must be executed to enable the table function to return actual data?

A. UPDATE DB CFG USING MON_OBJ_METRICS BASE

B. UPDATE DB CFG USING MON_ACT_METRICS BASE

C. UPDATE DBM CFG USING DFT_MON_BUFPOOL ON

D. UPDATE MONITOR SWITCHES USING BUFFERPOOL ON

Correct Answer: C

QUESTION 8

Which of the following SQL statements will list table spaces whose utilization is greater than 95% and may potentially
fill, returning an error?

A. SELECT tbsp_name, tbsp_utilization_percentFROM TABLE(sysproc.mon_tbsp_utilization()) AS tWHERE
tbsp_utilization_percent > 95AND tbsp_auto_resize_enabled = 1;

B. SELECT tbsp_name, tbsp_utilization_percentFROM syscat.mon_tbsp_utilizationWHERE tbsp_utilization_percent >
95AND tbsp_auto_resize_enabled = 0;

C. SELECT tbsp_name, tbsp_utilization_percentFROM syscat.mon_tbsp_utilizationWHERE tbsp_utilization_percent >
95AND tbsp_auto_resize_enabled = 1;

D. SELECT tbsp_name, tbsp_utilization_percentFROM sysibmadm.mon_tbsp_utilizationWHERE
tbsp_utilization_percent > 95AND tbsp_auto_resize_enabled = 0;

Correct Answer: C

QUESTION 9

Which statement about the DB2_BCKP_COMPRESSION registry variable is TRUE?

A. It does not apply to table space backups.

B. It specifies the compression mode to use for DB2 backups.

C. It only has effect when appliedto a database in which all tables have been compressed.
D. If set, backup images created with the BACKUP command are automatically compressed.

Correct Answer: D
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QUESTION 10

Which command will enable Explicit Hierarchical Locking (EHL) in a DB2 pureScale environment?
A. UPDATE DB CFG USING CF_LOCK_SZ AUTOMATIC

B. UPDATE DB CFG USING OPT_DIRECT_WRKLD YES

C. UPDATE DB CFG USING LOCKLIST 4096 MAXLOCKS 90

D. UPDATE DB CFG USING LOCKLIST AUTOMATIC MAXLOCKS AUTOMATIC

Correct Answer: C
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